
 

 
12302 Shiloh Church Rd. Houston TX 77066 Phone (281) 880-6322 - Fax (281) 880-6325 
 

I-SHEET PART NUMBER: INST-00277 

PART NUMBER: H0365 

PRODUCT:   NERF STEP 
APPLICATION:  03-10 HUMMER H2 

                            
                          
 
2017-18 F-250, f-350 
                            
                                  

                      
                        
                            
                      
                          

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

   

 

 

 

 

 

 

 

 

 

 

HARDWARE  H0365 QTY 

 5/16”x1” carriage bolts 12 

 2.25” self-tapping screws 12 

 3/8 washers 12 

 5/16 nuts 12 

PARTS INCLUDED QTY 

Driver Side Step 1 

Passenger Side Step 1 

Step 1. To determine which is the front of the step, look for the shorter tail bend. 

Hold the N-Fab nerf-step up to the truck, approximately ¾ to 1 inch from the front wheel well 

opening. (If you have oversized tires you can mount further back to ensure clearance.) 

 

Step 2. With the bar held up to the underside of the truck, position the flange with the ½” holes below 

the pinch weld. The edge of the bracket and pinch weld will line up. The N-fab brackets have spacers  

that will line up with the plastic, you must mark around all the spacers and drill them out with a one 

inch hole saw. This will allow the spacers to go through the plastic and make 

Contract with the metal part of the body.      

 Drill 3/8’ hole. 

Hole should be in 
center of pinch 
weld. 

1” hole in plastic. 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

            

  

 

Step 3. Hold the bar up to the truck again, line up the holes you drilled, take 5/16 carriage bolt and 

insert through bracket and holes; install all 6 bolts with washers and hex nuts. Finger tighten so nerf 

step is suspended. 

 

Step 4. After finial adjustment tighten (x6) carriage bolts to (15-20 ft./lbs. torque.) 

Step 5. Install the supplied self-taping screws through the bracket and 1” hole drilled in step 2. 

 

 


